Name of the Trade : Draughtsman Civil - 2" sem - NSQF - Module 1 : Chain Surveying

. Week No
# Question OPTA OPTB OPTC OPT D Question OPT A OPTB OPTC OPTD Ans | Level Zoﬁ:bgfs of the
y Syllabus
1|What is the work carried to fix national and state boundaries? Contouring Levelling Topographic Surveying T 3R T & AATHT A T A & [l F4T e erafeier ESEIcaned FdeTor D 1 Surveying 27
mapping FTY R ST 872 GIGICEL
2|What is the length of one link in metric chain? 10 cm 15 cm 20 cm 25 cm A ST A T folsh T olaTs FAT 872 10 cm 15 cm 20 cm 25 cm C 1 Chain 27
surveying
3|What is the name of the setting out the work on the ground? Location survey | Preliminary survey | Topographical Engineering survey |ERTde 9 I ST TATTU el T T ATH 62 T FIeToT IRTASE TIGT0T | TUp i TI&T0T | Soll=1aier adator | A 1 Surveying 27
survey
4|What is the principle of survey? Traverse Triangulation Work from whole to | Work from partto [&d&ToT T Rgend & g2 e [EEaCIPERE) RART T HTAT H | FGIT A QRAETH | C 1 | Principle of 28
part whole R wE survey
5|What is the method referred in chain surveying? Inter section method | Trilateration method | Triangular method | Polar co-ordinate |sRIe @d&ToT & fAfese TS a1 §2 SR AR [ | gE o B Py ol g gHeaa @ | D 1 Chain 27
method surveying
B D
e
A §
9
8
6|What is the length of metric chain? 5m and 20m 10m and 15m 15m and 20m 20m and 30m #Hifeen sgen Fr olaTs FATE? 5m and 20m 10m and 15m 15m and 20m 20m and 30m D 1 Chain 27
surveying
7|What is the chain of 100 feet long generally used for taking Gunter’s chain Revenue chain Metric chain Engineer’s chain [SRIT T&T0T # 3NFHE Wt o fIT AR TR FEATeT I ST oI ST #ifesd e SR S D 1 | Engineer's 27
off set in chain surveying? gl arely 100 Hie ofelt siie FiT A g? chain
8|What is the name of the equipment? Steel rod Wooden peg Offset rod Ranging rod YT T AT FT g2 a3 g5 gar 3% | S RS C 1 Chain 27
surveying
tools
3
9|What is the surface that is normal to the direction of gravity Levelling Horizontal surface Horizontal line Level surface |G ieT T TG & off AT GG I I FcaThy] &hT EEIGEN &fasT adg &fas T@r AT g D 1 Site survey 27
at all points? T AT &2




10[What is the line that lies on a level surface and is hormal to Level line Vertical line Datum line Horizontal line  [dg al=l &1 TG & Sl Teh olael T Helg UX 14U & 31 EEckCiED FEATER 3@r 3TH S aifast @ Site survey 27
plumb line at all points? T gt R oo Y & fow e 2
11{What is the limit of error in 20m chain as per IS? +3mm +5mm +6mm +8mm IS & 38R 20 m ST & A T AT 4T 52 +3mm +5mm +6mm +8mm Error in 28
chaining
12|What is the term for error that occur due to faulty Natural error Personal error Avtificial error Instrumental error [3E 3 foTT 2re 4T § ST SRS 18 39T & ATl o Ie IESCRE FhAA Y 3UHIOT e Error in 28
adjustments of device such as chain may be too long or too mﬁwm%agawmagama chaining
short? T 8?2
13|What is the limit of error for 30m chain as per 1S? +2mm +4mm +6mm +8mm IS & 378N 30m SIS & forw e 1 drer a1 g2 +£2mm +4mm +6mm +8mm Error in 28
chaining
14|Which type of tape is commonly used for measuring offset? Linen tape Steel tape Invar tape Metallic tape  |3TThA< ol AT & [T ATHI: [hT YR & T Hl Toretet e T T AR eq g3 o Offset 28
3T foRaT ST §7 measurment
tool
15|What is the error that arise due to variation of temperature? Natural error Personal error Instrumental error Artificial error  |QTIHTeT Y [HeeTdl & HRUT 3cee g1t dTell 3fe AT T e e fFaera 3fe 3UET Jfe FRAR Error in 28
2?2 measurment
16|What is the length of metallic tape available in feet? 15 feet and 30 feet | 30 feet and 45 feet | 45 feet and 60 feet |50 feet and 100 feet €T & &9 T The 3 olaTs F4T 67 15 e 33 30 thic | 30 Fie 31 45 Fie | 45 tie 31k 60 e |50 Hie 31K 100 Hie Metallic 28
measureing
tape
17|What is the lateral surface distance measured from the Off set Long off set Short off set Oblique off set [T & UT2d HTg & g1 &1 a&g A AT AT Il &2 AT T THAC BieT 3% A 3Mfeere 376 A Offset 28
chain to object? distance
18|What is the term that the distance measured at right angles Short off set Long off set Oblique off set  |Perpendicular off set[ag 2Teg &7 & St aEg & SIS TGN I HHDIUT T BT 3% A T IhAT 3MTeeTeh 3% AT ofead 3T A Prependicula 28
to the chain line from the object? AT ST 82 r offset
distance
19|What is the offset that is measured other than right angle to Short off set Long off set Oblique off set  [Perpendicular off set|ag 3THAT T § T 3fTeoiae A U oISl U THBIOT BIeT AT AT ST ATHET 3iTeeTeh 3% AT ddad A% 9 Oblique 28
the chain line from the object? & 37eITdT 37T HIUT HOTT &7 offset
distance
20|What is the term that is normal to plumb line at all points? Level surface Datum surface Horizontal surface | Vertical surface |G @ieT 6T 216G ¢ o1 T [SGHT IR oldl olged o Told A g 3eH Adg aifas @ d9dd Idg Datum 28
HHT &7 surface
21|What is the mark established between GTS bench marks by Change point Arbitrary bench Permanent bench | Temporary bench |[faf8ieet TRRT fae7Mal, PWD 3R 31 SoMliagRar gRade fog 3ifeed 9 AT T ST ATh 3R 9 AT Bench 28
various government departments, PWD and other mark mark mark TSIfA GaRT GTS o9 Ak o o venfad fes a1 marking
engineering agencies? 87
22|What is the bench mark established for short duration and G.T.S bench mark | Arbitrary bench Permanent bench | Temporary bench |3 3/aT® & fow T s A1 Fa1§ AR 3T 8 G.T.SSa#H el I AT T S ATh 3TN 9 AT bench 28
the work should be resumed from these bench marks? mark mark mark AT T A T YF forar ST anfeu? marking
precedue
23|How the chain is adjusted if the chain is found to increase in | By removing some |By straightening the | By adjusting the By inserting the uﬁ'mﬂﬂﬁaﬁ‘g’mﬁmﬁaﬁ@ TS ST s | O Oocll B gCY | HioAT & A5 A TSAW AR A | FTRISAT AR AT Chain 28
length than the standard length? of the rings bent of links links at the handle new rings as Y ST T HH FHRNTSIT fRaT ST §2 e TR TATATSAT Xeh Tool STee adjustment
required
24|What is the length if metallic tape available in meter? 5m and 10m 10m and 15m 15m and 20m 15m and 30m (3¢ &7q ST FIeX H 3UeleY § dl oldls 4T 67 5m and 10m 10m and 15m 15m and 20m 15m and 30m Metric tape 28

measure




Name of the Trade : Draughtsman Civil - 2" Sem - NSQF - Module 2 : Compass Surveying

. Week No
Question OPTA OPTB OPTC OPT D Question OPTA OPTB OPTC OPTD Ans | Level Zol‘l’:bﬁfs of the
y Syllabus
1|Which is local attraction in compass survey? Steel Structure Building Trees Hills FEATH TAETOT F TATA ITThYUT il T 72 SEITT |l SARC 93 ERE] A 1 Company 29
surverying
2|What is the direction of magnetic needle always pointing? East West South North TR Jh1D 3 hY [0 FAT 572 qa qiea# greroT R D 1 Magnetic 29
direction
3|What is the name of instrument? Pentagraph Planimeter Tacho meter Speedo meter  |IF T ATH 3T &7 SEDIED ColTHTET ol Al et Hrex B 1 Panto graph 29
4{Convert W.C.Bearing to quadrantal bearing? RB=N12°30'E | RB=S19°30'E | RB=S30°30'W | RB=N70°30'W |W.C. &I FaT3c [SaReT & seol? RB=N12°30'E | RB=S19°30'E [RB=S30°30'W [RB=N70°30'W | B 1 Quadrantal 29
bearing
N
160°30'=WCB
W E
5[What is back bearing of AB if fore bearing of AB = N 32° 30' N 32°30'W S32°30'W N 32°30'S S32°30'E AB Eﬁ'mﬁ'&lﬁﬁTAB =N32°30'Egldl AB&T N 32°30'W S32°30'W N 32°30'S S32°30'E B 2 Back bearing 29
E? & fafier gefr?
6(What is the type of compass as per the system of graduation | Magnetic compass| Trough compass |Prismatic compass Surveyor’'s TS UL FHT JUTTell & IR AT hl HehlX FIT gﬁﬁﬁ?’: HFTH Th hFITH o8 T Feary TRR FT HeqrE C 2 Prismatic 29
made? compass ? compass

DCN224515




7|Which method is used for plotting a traverse survey in By included angle By paper By Rectangle co- By graphical  |#FdTH & U ¢ad AAKTUT & ToIT fohdl qegifal &l 3TaRkes AT (Y | TR ogaer B | 3maa #-3dke  |[Recas gaes Traverse 29
compass? method protractor method | ordinate method |adjustment method |39=eT 2T ST §2 EanT canT fafer ganr fafer ganr survey
plotting
method
N
B
c
A
5 5
g
8|What is the error if the compass is affected by external The pivot being Local attraction Inaccurate The vertical hair  |FFITH & STE FeTAT & FHTTA alet I FT A 672 HAAGI G ool 3Tearele ENCCREICE FEATER g3 HI Compass 29
influences? bent levelling being thick AT g error
9|What is the error if the magnetic needle of a compass not Instrumental error | Manipulation error |~ Sighting error | External influences [If& #ara &1 gaehia g3 €T o1 o ol 41 3¢ 67 3UEOT FE AfAgele e Tt gael Jfe CUEEE] Compass 29
being straight? error
10|Which method is more accurate in plotting a compass Parallel meridian | Included angle Paper protractor | Rectangular co- |FH&aTH TAETT H Tl & [olT ahlel HY [T AP | AR ARSI | 3McIReh HIUT AT | UOR YreeFe [Qrer ISR - Plotting 29
survey? method method method ordinate method |[&€ §? fafer e [y compass
survey
11|What angle is differed due is local attraction at a particular 45° 90° 180° 270° B 3R S [QIRET olssT 7 ITT a7 fhay [y 45° 90 ° 180 ° 270° Off set of 29
place detected in fore and back bearing line? AT TR elehel Aol I fohd 0T GIRT 3TelaT local attraction
o ST 872
12|What is the true bearing, if the magnetic bearing of the line is N 35° W S35°E N 39° W S39°N z fogiar & g1, afe et &1 o feaReT N N 35° W S35°E N 39° W S39°N True bearing 29
N 37° W and the magnetic declination is 2°E? 37° W ¢ 3R H7afes swfaaiesT 2° E &7
13|What i the variation of declination occurred due to magnetic | Secular variation | Annual variation | Irregular variation | Regular Variation |gaeha faailer Si&¥ fah afaht 31X st ahl AT 1° AT | AFFoR TR s TR AT IR | afad §9raR Variation of 29
storms such as earth quakes and the amount of variation 2° 8Y dl ShfoIele H TR gIaM? declination
may be even 1° or 2°?
14|What is the variation, in the magnetic meridian swings like a | Secular variation | Annual variation | Irregular variation | Daily variation —|gaehra HRTSTT & Teh =0T 3 YFol# T g Th FFG o FATAT NS TR JfafAd TR AGEREIn Variation of 29
pendulum in one direction for a long period and gradually el 37afer & T A g iR R-4R 3R e declination
comes to rest and then swings in the opposite direction? & forw 31mar & 3R o faadia feem & g swear &
A Tl gIeT?
15|What is the compass with the graduations are marked as Trough compass | Magnetic compass | Surveyor compass | Prismatic compass [T #aT & ASZ TR i 0° & T GaroT & AR TH HEIE FFEhT HEIH I FHEaE e Feag Surveyor 29
south with 0° and north with 180°? 180° & AT 37X H RIfETa v srar &2 compass
16|What is the direction indicated by an imaginary circle passing | True meridian | Arbitrary meridian | Magnetic meridian | Assured meridian |3 3R Gf&I0T 45 & ATEAH § AT & IR AR A z AN Fech ARRaw | gedmaRRaa | 3ARad Ao True meridian 29
around the earth through the place north and south pole? TSR aTel FIeU I G GaRT IdTs 75 fGem #ar §?
17|What is the compass that has graduation marked as 0° on Trough compass | Magnetic compass Surveyor's Prismatic compass |F&aTH TSI ] Tere i 3a] 3R 18707 # 0° 3R TH HEATH PRI HFIH TR FFATH e Feag Magnetic 30
North and South and 90° on East and West? compass 93 3R affed 7 90° W Rafgaa frar smar g compass




18|What is the sum of the interior angle of a pentagon? 260° 360° 440° 540° TS & HTARE 10T T JTeT FT 57 260° 360° 440° 540° Fore bearing 30
19|Convert whole circle bearing of 210° 30" into reduced S30°30'E S 30° 30' W N 30° 30' W N30°30'E  [qulgd faaier 210° 30" #1 5g @ fgRar & S30°30'E S 30°30'W N 30° 30' W N 30° 30'E Reduce 30
bearing? qRafdd #L? bearing
20|What is back bearing of AB if fore bearing of AB = 63° 30'? 243° 30' 116° 30’ 242° 30" 115° 30' AB = 63° 30' T B TSI glet T AB I 8 243° 30’ 116° 30' 242° 30' 115° 30’ Back bearing 30
ferafer grar g7
21|What is the magnetic declination, if the magnetic bearing of 5°W 5°E 6°E 6°W YFaehIg SThca2lel 4T B4, ITe SITeX o THY 5°W 5°E 6°E 6°W Magnetic 30
the sun at noon is 354°? A H gara feafier 354° §2 declination
8
g
=]
22|What is the included angle of line AB = N 20° 30' E & line 60° 00 62° 00 65° 00 67° 00 AB =N 20° 30" E & olTS«T AC = N85° 30' E e 60° 00’ 62° 00 65° 00 67° 00 bearing a line 30
AC= N85° 30" E? AR 0T FIT &2
N
20°30'5
w A
s 2
2
23|What is the angle between the lines OA and OB if their a=115° 30" a=116° 30' a=120° 30" a=125°30" [3fE OA 3R OB & I ST IR 32° 30' IR a=115°30" a=116° 30" a=120° 30" a=125° 30' bearing a line 30
respective bearings are 32° 30' and 148° 00'? 148° 00" § A OA 3iX OB & &I T 10T 7T &7
N
A
32°59
\ a
w y /‘u E
s B g
24|What is the value of back bearing of the line AB when the 215° 30 240° 30 265° 30 300° 30' STe @ a"TI' B TR 85° 30" g, ar CIEG A=) £ 215° 30 240° 30' 265° 30' 300° 30 Observation 30
fore bearing of the line is 85° 30'? S SR HT FAT A &2 of bearing




Name of the Trade : Draughtsman Civil - 2"! Sem - NSQF - Module 3 : Plane Table Surveying

. Week No
Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans | Level Zoﬁ;‘;;’; of the
y Syllabus
1{What is the name of the instrument? Clinometer Abney level Dumpy level Telescopic alidade [T T =ATe &7 7 FeeiAe TSalT oldel SFqT oldel eTeEepIeh Ufelss | D 1 Survey 30
instrument
2|What is the name of method in which tracing paper is | Bessel's method | Traversing method | Trial and error Tracing paper  |TATATT T §eT Xl oh ToIU 31397 2T UX ¢TI 9UX T Sacq fafer Satger At qietor IR FE /Y| R o D 1 Plane table 30
used over the drawing sheet to solve the problems? method method YT et Y A 7 A9 FAT R survey method
3|What is name of the level which does not required Auto level Tilting level Dumpy level Wye (y) level |3 olael &1 T8 T & To1d T A i FI&T T 3TaeTehcll 37Tel ofae eIt elaet SFqT oldel T (y) elael A 1 Auto level 30
any protection from the sun? TAETR?
4|What is the name of the error that the fittings of table Errors of Errors of sighting Errors of Errors of plotting [3E &1 &1 AT § & dTforet 3R fqurg & fhiear Sen a1 |AAYees &1 Jear| s drfear | suamurd gfear | wenfeer dr gfear [ 1 | Instrument error 30
and tripod being loose? manipulation instrumental Erg?
5|How you will test the plane table board that the upper [Checks the straight | Setup and level [ If the bubble is not | Correct the edge |3TTH Telel CeeT STS T TLU&TUT hdl Y31 foh &S T ST Hclg | Goll feem3it A WY | Aok IR TH | IS orgelhad | goRT gleor & A 1 Plane table 30
surface of the board should be perfect plane? edge in all the plane table  |central position, the | by filling and again |@gr Tl gl=iT ATfgu? fhe Y ST ek | Fee W Toled el | Ref a7t &, o oS & A testing
directions over a station error by keeping test FN AT Ih | o AT o are Afehar
packing between TEH A AT
the underside of
the board
6|What is the colour of road metalled bridge? Burnt sienna Burnt timber Crimson Lake Prussian blue |3 Aces TsrsT &1 o7 FAT 8?2 IEX 3T 3T T STel § 3 ofhaT TohaTde olh &Rl aTell A 1 | Coloring of map 30
7|What is the term name for tracing the drawing by Technique of Method of Sequence of tracing|Should be traced in [3{=X@U1 & 3TG2T & ATY TATET (HeTeh) & ATCIH 4 FIeT Al | ST Y dJehelleh Goletel 1 Al | @O HT A | FUS P CHIA A | A 1 Tracing of map 30
means of ink (inking) with order of tracing? tracing reproduction tracing cloth  |¢8 el o folT 2reg I AT FAT &2 ST ST TATRT
8|What is the name of term that in this method of One of the One of the Survey can be Great skillis ~ |<ree; T =113 T & foh HA&TUT T 36 UeHTd H Ig 3T Tl ST T & | Colel ool [AGTUT oh | HAGTUT &e] o1ehsl & | TTeIeh ahtered bt A 2 Advantage of 30
survey it is less costly than other types of survey? advantages of disadvantages of done in dense required TR & HIETOT T JolelT H A AN 57 FIIGT H § TH THAATH § Uh &= # fhar o TALTHAT § plane table
plane table survey | plane table survey wood areas ThaTE survey
9|What is name of the survey in which field work and Chain survey Compass survey | Engineering survey | Plane table survey 38 Td&ToT s w18 3T & TSI thies $raf 3R T Ueh AT TIETOT FHEITH TAETUT | SoNTeIIR3T TAGTUT | Tolel el TI&TOT D 2 Plane table 30
plotting are done simultaneously in the field? arer fres # e A §7 survey




10[What is the method of survey? Radiation Resection Traversing Intersection  [adeToT T [Afey FieT A &2 fafRzor RAererT arger X qFAUA Resection 30
method of
survey
A
7 /
- /
- /
- /
- /
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-7 7 B 3
A"/// o E
g
g
11|What is the method of survey? Radiation Resection Traversing Intersection Fdeor Y /Y FAT 82 TafeRToT R afeaT X qRAA Traversing 30
method of
D survey
d
uﬁ?
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12|What is the name of triangle formed by joining the Great triangle Scalene triangle | Isosceles triangle | Equilateral triangle [STHYeT & Tog3iT &1 TR St TS T oATH F3T 52 3ifas Bl TavHaTg THHIOT FHGIaTg FFehion A S FFhIoT Great traingle 30
ground points?
13|What is the name of method? Two point problem Three point Tracing paper Graphical method |fTer &1 a1TeT Fam &2 Afgharen | g arear | e aue ol IMiherel A Two point 30
problem method method
Ar\ ,,,,,,,,,,,,,,,,,,,,, _B
: \\\ /// ‘f
N s |
\\ \\\\ //// "
\\ \\\\ //// "
: N |
i AN : {j
a b a h‘, —
e :
P C p o o §
5
14|Which survey is most suitable for filling the various Levelling Chain survey Plane table survey | Compass survey |ZISU[el2e GaRT [TUTRd T2 o ard [a 3o [9aR0T & EEICD JeT FAETOT ToleT Sl TAETOT FHFEITT FAETOT Plane table 30
details between the stations fixed by triangulation? T et T7 FI6T0T TR IUGFA§? survey
15[What is the method of survey? Radiation Resection Traversing Intersecting  |@daToT 1 AT F1 82 fafRzor RAererT arger X qFAA Intersecting 30
method of
survey
g
A B
16|What is the name of method used in plane table Radiation Resection Traversing Intersection FHFATT TAETOT IT FAANETATST o TAT Tolel ol TAGTUT TafeoT Rt argeT X qRAA Resection 30
method of

survey similar to that of compass survey or theodolite?

sgad [aftr st A T E?

survey




17|What is the name of the process of putting the plane | Centring the plane |Orienting the plane | Orienting by back Orienting by [ CeleT el &l ohalY TR ferRT & AT STy Y UfShalT & | Toled ¢fel TR hegUT | Toled ol TS T g U Y g3 R Orienting of 30
table with some fixed direction so that the line table table sighting magnetic needle |3 ATH g ATfeh Alstell WX Rl faIy fererm s gfaifafee 3RUe FLaT nRufdar nRufdar plane table
representing a particular direction on the plan is FLeT aTell IWT STHA U TR & FATATR gr?
parallel to the direction on the ground?

18|What is the colour of compound walls? H - green Indigo Burnt sienna Burnt blue HYFd SIaRT &0 337 FAT 82 H-& EIE IEX 3T 3T T e el Coloring of map 30

19|Which place the plane table set up for prepare aroad | Centre of road Left side of road | Right side of road |Along any one side |1 &7 IR X o [oIT Tolel <aol Y Tohd TATT T TS Fl ohes TSF & a5 3T FSFHhals AR | G5 & hdl T Set up for road 30
map? of road TR R Sar &2 fhaAX & TTYT map

20|What is the colour for building benchmark? Burnt sienna Burnt timber Crimson lake Prussian blue  |S#Teh §eTTel & ToIT 397 T 2 IEX ST3eT 3T T SToll g § ofhat TohaTde oleh EohT srell Coloring of map 30

21|What is the method with three known object points Lehman’s rules |Mechanical method|  Graphical or Trial and error  [dieT AT 3iTeolde Uisc & AT AT FAT g IR SEAT MR | gHa & faaH PIECETIE] el 1 deH | oeToT 3R A ot Travelling 30
and its plotted position on the drawing sheet are Bessel's method method ST Tolle 1 AT THTAT 1 gl it & foIT off 715 &2 afar method
taken for solving the problem?

22|What is the name of problem? Two point problem Three point Bessel's method Trial and error  |THTIT T AT FT 82 AfgHraren | I S aaear | sHead @y | aefor 3R e [/ Bessel's method 30

problem method
A B c A B c
\ [ / \ | /
\ | / | /
o |
a k‘l 4 a l‘) 4
\ Vo .
p s
P P g
23|What is the name of method? Bessel's method | Two point problem |Mechanical method| Trial and error |37 &T =13 2T 2 STed I fafer Y g & aoen BIUECTCIE] TdteTor 3R e afE Method of plane 30
method table survey
Q
[
1
F\\\ ?q R
N } g
aNSSS
3
w0
8
r4
Q
a

24|What is the method with any two of three known Lehman’s rules Bessel's method | Traversing method [ Trial and error ST &1 gl el & ToIT 1597 AMe TR Tehal off i ATl EHA & A ST & [ carger At TdieTor 3R e Y Bessel's 30
objects points and its plotted positions on the drawing method 3iTeotare Uiged 3R 38 Talle fhU 91T Yai & ary [fr method of
sheet are taken for solving the problem? FATE? survey

25[Which method of plane table survey the figure Resection Traversing Radiation Intersection | Tolel Cael TAGTUT 3 hied T [AT8 3T Td GITcT 872 fafeRzor carger fafeRzor X AR Radiation 30

represents?

DCN235121

method of table
survey




Name of the Trade : Draughtsman Civil - 2" Sem - NSQF - Module 4 : Levelling and Contouring

Question OPT A OPTB OPTC OPT D Question OPT A OPTB OPTC OPTD Ans | Level |Topic of syllabus tvr\]/:eskyn';’bzfs
1|What is the name of level designated as self aligning level? Tilting level Auto level Dumpy level Wye (Y) level [T3 T@UT dad & 9 A AR odol Bl ATH FIT | [eoATeI el 37T daeT EEECEr] EEUKEER] B 1 Auto level 31
g2
2|What is the name of the levelling instrument? Dumpy level Wye (Y) level Tilting level Auto level ATt STZAT I AT FT 82 AU ool g (Y) dae feafeaT daar 37T dael A 1 Auto level 31
2 ®
= = =20
] =
= - il
==
[ 1T 1 [ 1T ]
Y/ —Y
&——= o
—— 1 g
3|What is the name of the levelling instrument? Dumpy level Wye (y) level Tilting level Auto level QT STEHC T ATH FIT &2 EGEIGER] arg (Y) oidel fearfesT saar 3TeY gl D 1 Auto level 31
e
1 — [JI Yﬁ/l H
o
8
g
Q
[a]
4[which column is used, the first entry in the level book page? Fore sight Back sight Intermediate sight Height of T & H 9UH Toafse & faw fra 97 &t R AT % AT ALIGAT AIEC | USR] A SIS | B 1 Levelling record 31
instrument 39T fHIT SATAT 82
5|Which branch of surveying deals with the measurements in Chaining Levelling Compassing Plane tabling  [&di&ToT &1 ahlef T AT FEATER Toled & HIT § afAer Safer FHFEATGIT ToleT coToraT B 2 Levelling 31
vertical plane? g g?
6|Which line is normal to plumb line at all points? Level line Vertical line Curved line Horizontal line [ T3t IR lsT € oISl Cold gl & falw EECEIECT FEATER 3&T FATEGER 3@m aifast X@r D 2 Levelling 31
AT &7
7|What bench mark is established for short duration such as at the | Arbitrary bench mark [ Temporary bench [Permanent bench | GTS bench mark | 1 & 3 d & A AT h AT A AT Sd | Gy ST Ah | FEARN ST AR | TIRA o AR GTS &9 Ak B 2 Bench marking 32
end of a days work? mark mark AT TATRAT fRT ST &2
8|What is the name of the level that does not require any Titling level Auto level Dumpy level Wye (y) level |38 dadl #TAH Fa1¢ o0 GA 4 fre ol geam | feafdar olaar 37T daeT SHUT ool g (Y) dae B 2 Auto level 32

protection from the sun?

HT LTS AT 181 &7




9|What is the name of the staff used while the sights are long and Solid staff Invar staff Target staff Telescopic staff |G TU o @10 ¢ 3R 30T & ATETA BT TETh =R TeTh TRIIC T&h TR TeTh Levelling staff 32
the reading viewed through instrument? T STTet aTel T T AT FAT &7
10{What is the name of the staff 3m long and the band fitted is Solid staff Invar staff Folding staff Telescopic staff {3 m o 3R 5 Tthe T 1T FHaraTRAT 7 ATH ST TCTh rdR TIh PIfegd TCTH | CollEhiTUs TeIh Levelling staff 32
graduated in mm used for precise levelling? TEP SIdToldT o TIT 3YATT fRT STeT aTel mm
AT &2
11|{What is the smallest graduated division in levelling staff? 0.5m 0.05m 0.005 m 0.0005 m SafereT T H T8 OIeT Iges AT FT 57 0.5m 0.05m 0.005 m 0.0005 m Levelling staff 32
12|What is the figure describes? Reading the staff | Holding the staff [Adjusting the level| Levelling up the [/ aui= FaT8? T I GGl TP Pl Gehsell | TR THATANTSAT | STRIUT ol TAAA Levelling staff 32
instrument el ST
g
3]
a]
13[What is the message to indicate the movement of left arm over Return to arm Establish the Move my right Move my left  [90° UR ST T Il &l RN el & ForT T W ol Ryl ra sy | ATV AR gl | AT &% AR g Levelling staff 32
90°? position Herg?
14|What is the process if the difference of level between two points Simple levelling Profile levelling Differential Reciprocal levelling[aTe & g3t & &id & oldd & 3R [og & arg [EECICEIRE NS oidTeldl | BRI olafeldT | TTShel oidtordl Levelling 33
is determined by setting the levelling instrument midway between levelling FAT I8 A Ui = AR
the point? ST & T 3T Ifehar g7
15{Which type of the collimation error is eliminated? Dumpy level Wye (y) level Cooke’s Cushing’s level |fohd J&R & FITaIARI IfC TATS 8T ST 67 EEICER] T (y) TR Fehrg TR el F AT e Levelling 33
reversible level CEr
16|What is the name of the imaginary line of constant elevation on Relief Contour line Contouring line | Contour interval [ST#1sl Tdg W AR 3dTs sl shied eieh T T Ted AT @M eI olTgel THATT R Contour levelling 33
the ground surface? FATATHE?
17|What method of contour is suitable for small and low undulating By square method | By cross section | By tachometry By levelling FHATT $ il TY 1A1D BIC 3R HA 3T &1 g R_Ea g Qe A | St AT garT | iafeler fafe ganr Cross section 33
area? method method method fow sagaad? CCIRY
18|What method of contour is suitable for contouring in hilly areas? By square method | By cross section | By tachometry By levelling TET3Y 8131 A THAd ST & [olT FATTT ST Ple] T RO HiF T2 AT | ST 19T gaRT | diafeldT 1aTe ganT Cross section 33
method method method o faftr sagaag? canT
19|What R.F is select the drawing of building sites as a topographic TR cieh AT &Y 3 [I#T0T Tl T Contour plane 34
map? 1 1 1 1 37391 T TG R.F F7 87 1 1 1 1 and map
100 1000 5000 10,000 100 1000 5000 10,000
20|What measurement are plotted to a plan or a map? Linear measurement Angular Vertical Linear and angular [fR&T TS I 1Y & T AT 7&4T ST 82 & AT Frofig 71T FEAER AT | & 3R Hofg Inter podation of 34
measurement measurement measurement AT contour




21|What dimensions are drawn in a plan of contour? Vertical dimension Horizontal Inclined dimension| Parallel dimension |[TATTT & T1olelT 1 dhieT & TATH 872 FeaTeR ATH et 3marH e 3 ATATIR 3=ATH Inter podation of 34
dimension contour
22|What levelling is called as in direct levelling? Plane table levelling | Trigonometric Reciprocal Simple levelling [3RRee AGfolaT & oIdToreT T FAT T ST &2 ColeT earel ddorer | ReRioTiET el ofafeldT | &9l eigteldr Direct levelling 34
levelling levelling EEICE
23|What will be the difference of level A and B if the B.S is 3.560m 1.700 m 1.600 m 1.500 m 0.700 m e B.S 3.560m 3R F.S 2.860m ¢ al A 3R B 1.700 m 1.600 m 1.500 m 0.700 m Deduction 34
and F.S is 2.860m? % oigel # FIT 37X grm? levelling
24|What formula is used in arithmetic check in height of collimation | £B.S-IF.S=Llast | EB.S+:F.S= | BS-FS=last | IBS-IF.S= [3Uauursh Furs fafd & Aeerorig S & 7hd | B.S-IFS= [ ZBS+3IFS= [BS-FS=3fdd | IBS-.SFS Collimation 34
method? R.L - First R.L Last R.L - First R.L - First R.L Rise - Fan = Last F{?WW%&TW%’? JfAFR.L - ggerm | 3ifAFR.L - gge R.L -9gelT R.L =gl - Tl = method
R.L R.L - First R.L R.L R.L JifaARL - gas
R.L
25|What is the height of collimation shown in figure with R.L 100.00 100.520 100.850 102.850 103.000 T & GW@IT 10 FHATHClT T Fd1s &7 ¢ R.L 100.520 100.850 102.850 103.000 Height of 34
and B.S taken from A is 2.850 m? 100.00 3R B.S A & 2.850 m forar = &2 collimation

2.850

A
R.L=100.000

520
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Name of the Trade : Draughtsman Civil - 2" Sem - NSQF - Module 5 : Theodolite Surveying

Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans | Level| ToPicof | WeekNo of
syllabus |the Syllabus
1|What is the purpose of using theodolite primarily? To measure To measure To measure Tomeasure [HEIET H fAASIATST 1 3UANT e &l 36637 el FEATER HI0T | ol SJHIA PIUT T | hdcl Blfclol PIUT I | &lfciol FLATER T | D 1 Theodolite 35
vertical angle only |inclined angle only| horizontal angle | horizontal vertical |&T &2 FI AT & fow AT & forw AT & forw FI AT & fow surveying
only angles
2|What is the instrument with its telescope can be revolved Auto level Dumpy level | Transit theodolite | Non-Transit  [SHehT gIalleT o 3&eh &ifclel 31&T h IR & Ueh SEATER 37Tel ofdel Y oldel Titoie [AAsdse Al - TIoic C 1 Auto level 35
through 180° in a vertical plane about its horizontal axis? theodolite TqATT 7 180° & ATeH T FAfT foham ST dshar g7 IPRIE Gl
3|What is the name of the part marked as ‘X'? Trivet Eye piece Telescope Tripod head  |X' & &9 & RITEsTc 1797 T ATH &7 7 Tsac RIERIE ErElG) [AEEIER B 1 Parts of 35
theodolite
:
8
g
4|What is the name of part marked as ‘X'? Level tube Metal case Bubble tube axis |Top of Telescopic |'X' & ®9 & RITETd H19T T ATH 27 &2 Acd FT g T T3ear 9 Tqd 38T CollEehITdeh 3767 oh C 1 Parts of 35
axis oy theodolite
‘ X
- W,ﬂ(‘b)w,,,,,/% -
iml In
| g
8
5|What is name of the component? Telescope Dumpy level Wye(Y) level Cooke's level |&ceh & 1T T &2 I 3T oldel g (Y) ofad FehId eldel A 1 Premier 35
theodolite
parts
c—
g
0|
[a]
6|What is referred to smallest measureable unit in theodolite? | Double sighting Least count Swing Contouring  |fAIETcliee & T&H OIET ATYA 19 ShTs ! 4T EEC I 3etcHTR &gar Feg Rl B 1 Premier 35
FET ST &2 theodolite

parts




7|What is the method in prolonging line? Prolonging line by [Prolonging line by [Prolonging line by [Prolonging line by [sYeifareT eiraet hr R_afer &2 Tgoll Tafe garr gadr At ganr arady [afer ganr ey fafer ganr Prolonging 35
first method second method third method fourth method QAT TSt QAT SISt ATATTINIT SISt AT TSt survey
(=] D2
¢ & —&—————
A B b ~ - b ~ -
C1 D1 5
g
8|What is the method of precisely the horizontal angle from a Reiteration Recipetation Radial method Offset method  |TFET Tehet FC21T TG & &TTcloT 10T T Heleh §9 8 Reeet fafer Iaes afer I3Ter fater 3Thae fafer Angular 35
single station point can be measured? method method g Tafer & AT ST Fhar g2 measurement
9|What is the deflection angle that the angle measured in Left deflection | Right deflection |Vertical deflection Horizontal TIEITOT 0T T § ST HIUT Y SIATUTAC M A ATAT | &1 [J&TIUT 10T | &rT [QeTquT o7 | FEaTeR [aerqor ot | &fast feiaor shror Deflection 35
clockwise direction? angle angle angle deflection angle |STTT &7 angle
10|What is the name of theodolite with one of its telescope Auto level Dumpy level | Transit Theodolite | Non - Transit  [39el ClIEhIT H & Teh & AT [AASTeST T ATH 37eY dlae SFAY oladt gifsic faastense &l -gloic Dumpy level 36
cannot be revolved through 180° in a vertical plane about its theodolite 7§, 38 &ifcTsT 3787 o IR H Ueh Fealer Tolel & IERIEGIE
horizontal axis? 180° & ATETH § FH AL TFd &7
11|What is the technical term for the process of bring the Centering Traversing Non - Traversing Collimation ~ [JSTelSc T FEATER G &1 T fA2MTeT AT T 2T FHegUl cafdar Al - SareaT PRI Centering 36
vertical axis of theodolite immediately over a mark or station Toig I et & 9fohar & fow aehstieh 2reg 74T 572
point?
12|What is the term for rotating the telescope in horizontal plane Centering Revolution Swing Sighting YT FEATER 3787 & aR H AlTciol [AHTT H gIaeT Ffea Rareg T r=pi arsfear Swing of 36
about its vertical axis? AT & oI 347 21eg; 872 telescope
13|What is the one main scale division of vernier theodolite? 15- 0" 20- 0" 22'-0" 25-0" R RAeeIse &1 A& AT &l Ue AT Fa1 87 15- 0" 20- 0" 22-0" 25-0" Vernier 36
theodolite
14|Which method errors due to eccentricity of the spindles are Ordinary method |Repetition method | Recitation method Compound Teqfeger T SHALACT & HROT HioT AT A1 e greRoT Jfer g fafer IR [_fY HgFd farer Vernier 36
eliminated by reading both the vernier of the theodolite? method TIAIEIENSE & alel afela] T Tget & THATC &1 ATl theodolite
g
15(What is the name of traversing that is used for running Chain surveying Compass Theodolite Plane table  [CaTIaT T &ATH T & SN Teh s AT Gol FA&TOT T eT FA&TOT FHFEITT TAETOT Taetonse adator | ol eael T I Theodolite 36
survey lines of a closed or open survey? surveying surveying surveying FAETOT ATSAT I TelTeT S FoTT 3T famaT SITaT 2 surveying
16|What is the method of prolongation of a straight line that Prolonging a line | Prolonging a line | Prolonging a line | Prolonging a line |Tek et Y&T &Y TTeiieT it h [T T & Toldeh Tgell [T gary a3 fafe ganr e [afer ganr el [afer ganr Prolongation 36
result cumulative errors, if the instrument is not in by first method | by second method | by third method | by fourth method |TRUTTHEEaET Her il T glell &, 39K 3TIoT ST efgeT QAT emseT CICHEIEIRCIEC) ST efgeT method
adjustment? THTAISTT 7 18T &7
17|What is the method used for the instrument is suspected Prolonging a line | Prolonging a line | Prolonging a line | Prolonging a line Hgﬁ?—l THMNS ¥ A arefanar ar Tgell [T gaRT a3 AT ganr e [afer ganr ey [afer ganr Prolongation 36
with improper adjustments and the error is doubled or by 1st method by 2nd method by 3rd method by 4th method FITT AT 3UANT AT AT &2 ST efgeT QAT elTaeT AT elTSeT ST efget method-II

reversal of telescope?




18|What is the adjustment done to place the vertical axis exactly Setting up Centering Levelling up Focusing FEATER 38T T T R IWeT & [oIT [haT 1T afear FHegoT EEIGO PIeh&IT Centering 37
over the station? TATASIA 4T &2
19|Which method is adopted while the instrument in improper Back sight Fore sight Single sighting | Double sighting |[HeaadT g &I Al & oI 377 FId 3TOT EEZR:IET BN "5 TeTer arsiear EEC R Fore sight 37
adjustment to establish the intermediate point? FHATAISTT & 1T PieT TY A 39S Sl 82
20|What is the test carried in theodolite to make the plate Spine test Plate level test | Collimation test Bubble tube  [Jf¢ Telcele gﬂ%ﬁa}ﬁ I Tl o [l TAANSIeSE H TS SFC TolT oldel ¢¥C FIALNT SEC | Tl T AT Theodolite 37
bubbles centre to run if the vertical axis is truly vertical? adjustment  |shloT AT Sr&TOT SATAT & aY FAT FEATeR 3787 testing
AT H FEaTeR &7
21|What is the least count of theodolite instrument? 20' 20" 20' 10" 0' 20" 20'5" TaETese 3UaROT h HeUdHIS FT 82 20' 20" 20' 10" 0' 20" 20'5" Accuracy of 37
theodolite
22|What is the traversing that a device is used to fix direction? | Chain traversing Compass Theodolite Plane table  [¢af&er &/ § 7o Ueh 3159 T YA 2 dF e AT ST FFEATT garaaT TaaETemse cafder | colet <adl T earder Compass 37
traversing traversing traversing & forw fomar SIrar g2 traversing
23|What is the major disadvantage of open traverse? There is no check | Check both linear |  Traverse are Mathematically [39eT Sa8 &1 ST JHATA FIT £? 10T o FNIT TR I el 8 3R TH & g R eay | 30T §9 & 95, Open traverse 37
on summation of and angular terminate at the closed and ST R g FIOT AT HI AT | T FATCT Srar | 3R RdT s a
angles measurement same point geometrically HTAT g Grelr a7
opened
24]|What is the name of survey done after balancing traverse? Offset survey Radial survey |Plotting a traverse Bowditch's  [¢a &1 Hfeld @ & TG [T 31T FAGTOT T oATH 3THAC TI&T0T IEge adeor TS 3] oY AT EISCEIREIR] Plotting 37
survey method FATE? TAlE T




Name of the Trade : Draughtsman Civil - 2" Sem - NSQF - Module 6 : Carpentry Joints

. Week No
Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPTC OPT D Ans | Level Zoﬁ;b;’; of the
y Syllabus

1|What is the term referred as fixing of small timber battens Rebating Studding Mitering Grooving BIET IR ohl Seat 1 ofehs] ohi SIART R TSl & Sk Rafear Tef3ar AT Ffaa B 1 Fastering 38
to timber walls with laths and boards are nailed to it? T F & F AfEse ereg o forg ) 3memRa &7

2|What is the maximum range of distance between vertical 60 - 80 mm 80 - 100 mm 100 - 120 mm 120- 140 mm  |FEATeR JeTell o avd T gt ST TEhc# TTAT 1 g2 60 - 80 mm 80 - 100 mm 100 - 120 mm 120 - 140 mm ¢ 1 Types of 38
channels? doors

o g
3|What is the thumb rule for breadth of window? 1/5 (Width of room | 1/8 (Width of room | 1/10 (Width of 1/12 (Width of  |[[&shr & Aiss & foT aoe &1 FAT &2 1/5 @R H diss [ 1/8 (FR A dlsrs | 1/10 (FAR 1/12 (&R Fr B 1 Window 39
+ Height of room) | + Height of room) | room + Height of | room + Height of +FMAFAE) | +FMAFAR) | ds+FW A | s IR
room) room) TS) FmS)

4|What is size of window shutter in window designation “12 1200 x 600 mm 560 x 1100 mm 1100 x 460 mm 560 x 1200 mm |12 WT 12 32 ueaT# & T&SHI o 2MeR T IThR FT &2 1200 x 600 mm | 560x 1100 mm | 1100 x 460 mm | 560 x 1200 mm B 1 Size of 39
WT 12"? window

5|Which type of windows are controlled by pulling metal Double Hung Casement Window Bay Window  [Clerestorey Window|&Te] o afel &1 Wiereh Tohd JehR 1 STl @i sl [Soel €91 [Uales fasT|  shasic Rasehl 3 s FoRECRT A3t A 1 Types of 39
weight? Pivoted Window T 87 windows

6|What is the ventilator provided in continuation of Fanlight Sky light Dormer Window Corner Window |dfeeleX &aR / F&Se! &l 31e 2fY IX STRY Y@l & T Tt EECIE THTS oISC EEISEED FIe T [T A 1 Ventilator 39
Door/Window at its top? TR STaT 872

7|Which window is provided on sloping roof? Table Window Lantern Window | Dormer Window | Clerestory Window [&elTsT aTell & TR ahlel TY RIS UeTeT dhT STl &2 [CCRCE] dTelee TSt 3R [AeY FoRECRT A3t C 1 Types of 39

windows

8|What is the process of sinking the edge of one piece of Housing Moulding Planning Chamfering RSN F FU W ] PICH dThal & Teh gehs 1 GE ThellX BERC Afezar TATTAaT TABRIT A 2 Carpentry 38

timber to another by cutting grooves across its grains? I 3@ 1 gichar #1872 joints




9|What is the name of carpentry joint? Matched and Matched and V Dowelled joint Ploughed and  [9cs3iRY S5 &1 =TT FAT &2 et IR s | A= 3ikv s 3des g Tes 3R s AE Carpentry 38
Beaded joint jointed joint Tongued joint joints
8
10|What is the name of joint? Lapped joint Fished joint Scarfed joint Tabled joint [ T AT AT &2 Bk TherE S THTh SIS tses Sl Carpentry 38
joints
— )
i
11|What is the name of carpentry joints? Butt joint Splayed joint Rebated joint Fished joint PRI SASY FT ATH FT 872 Ergeic T3 A8 Rz A3 Thers Sg Carpentry 38
joints
¢}
3
b4
Q
o
12|What is the name of carpentry joint? Rebated and Rebated joint Rebated Tongued Tongued and  [RYE SNST T ATH FAT &2 Rees 3R oS Racs a8 Re2e 98 3R 98 | €or8 3R 98 Siige Carpentry 38
filleted joint and grooved joint grooved joint IS Sse joints
]
13|What is the name of carpentry joint? Shouldered Housed joint Mitred rebated joint | Dovetailed housed |[FRUIT SET T ATH T &2 2les<s 139 s REEEIE ABR gI3A NS | 3aces g3 oig Carpentry 38
housed joint joint joints

DC2102E1




14|What is the name of carpentry joint? Angle halved joint | Tee-halved joint |[Dovetail halved joint] Bevel halved joint [RUeIT SST & AT 4T &2 T3Tcl &1%sS 18 EI-gThs SIIs 3dc¢es g o3 | ddels &% s Carpentry 38
joints
8
8
15|What is the name of carpentry joint? Oblique - Tenon | Birds mouth joint Housed joint Mitred and FRUCY SANST T ATH FT &2 3nfeereh - eatet 939 AY A1 RELESIE AN U3 Racs S Carpentry 38
joint Rebated joint agFd joints
\ \
g
]
=]
16|What is the name of part marked as ‘X'? Bottom rail Top rail Lock rail Frame X & & H TTETd #7197 T ATH 7 872 A I eI el dieh Yol A Parts of doors 39
\ )
—] ] F—
—] o |
—— -
— || F—
g
17|What is the name of part marked as ‘X? Hold fast Horn Frame Style X' & & H REAT HIET & AT FIT 82 gles BT gleT e wIgd Parts of door 39
frame
\ )
—] [ ] —
—] ﬁx
— || —
g
5
18|Which is used to subdivide a door or window with a Mullion Transom Style Lock rail SN Teh Tl & SEATER TG & AT Ueh edToll AT [&3ehT ahl Hioa= crarA TSl Wleh Xl Parts of frame 39

vertical member of a frame?

U H FLA & forw 37T fohvar Srar &2




19|What is a depression / recess inside the doorframe to Mullion Transom Rebate Sill 2T UTC el o [l gIaTot & 31eX Ueh TG 4T &2 EERE T Rec Sgoll Parts of frame 39
receive the shutter?
20|What is the relationship of width of door and ‘H’ height of [H = (Width + 1.5 m)| H = (Width + 1.35 [H = (Width + 1.2 m)[H = (Width + 1.1 m) [eXaTst ¥ AsTs 3R Tarer N 'FaTs H &1 FIT TaT 82 H=@@ss+15m)|H=(sE +1.35 [H=@@E +12m)|[H=G=E +1.1m) Parts of frame 39
door? m) m)
21|What is the name of part marked as ‘X'? Lipping Batten core Cross band Panel X' & & H AT 197 T ATH FIT 2 TormeT SeaT PR I 38 YTl Parts of frame 39
b
/
1
g
b
22|What is the name of hinge? Counter flap hinge Butt hinge Back flap hinge | Garnet flap hinge [ehToT &l =T8T T 2 FI3eX FolT HTol ge oot 9% FolT [geol AT FolT oot Fastener 39
0
0 0 000 0
0
g
23|What is the size of opening for designation “6 WS 12"? 600 x 1200 1200 x 1000 1200 x 1200 1000 x 1000 YeATH "6 WS 12" F [T @ielat &l 3R T 62 600 x 1200 1200 x 1000 1200 x 1200 1000 x 1000 Window size 39
24|Which window is provided near the top of main roof? Panelled Window | Casement Window |Clerestorey Window| —Table Window  [HTd &l & ¥ & UrH shief HY T@SH! FeTe &l STl 52 TeTol aTell IS HEHC TS FoRECI [T [TCRCE] Type of 39

window




Name of the Trade : Draughtsman Civil - 2"'Sem - NSQF - Module 7 : Electrical Wiring

Question OPTA OPT B OPTC OPTD Question OPT A OPT B OPTC OPTD Ans | Level | Topic of syllabus t\/r:lseskyll\ll;bzfs
1|What is the road safety Sign? Mandatory sign | Cautionary sign | Informatory sign | Prohibition sign [@S® gaT /9= Fa1 87 Jifar @ha FEAUTN HT Hhd | FdAHS Tl e Tohd A 1 | Safety precaution 40
:

2|What is the name of tool? Wire Stripper Crimping tool | Combination pliers| Diagonal cutting [¢et T oiT# &I 52 IR g ToRTETeT 30T AT WA | FRoTHRfIT R | C 1 Electrical hand 40
plier tools

3|What is the unit of electrical resistance? Volt Ohm Watt Ampere Taega wioRiy &1 s&r5 41 57 Volt Ohm Watt Ampere B 1 Electrical with 40
terms

4{Which instrument is used to measure electric current? Ammeter Voltmeter Wattmeter Ohm meter  |faggd YaTg ! ATYS & ToIT fFE 3UaH0T 7 37HRT TecHe AT A A A 1 Electrical with 40
ST AT ST §72 terms

5[How many electrons are there in the third shell of copper 8 13 18 29 T  IRATI] & TR el  Tohclel Solagiel 872 8 13 18 29 C 1 Electrical with 40
atom? terms

6|Which is a conductor of electricity? Mica Copper Air Glass Taegd &1 garee it 2 3THH GICH ag FrT B 1 Electrical with 40
terms

7|Which is a temporary wiring? Casing and CTSI/TRS wiring Cleat wiring Lead sheathed |312Tl I/t it AT 2 3TeROT IR HT [ CTS/ TRS aIReT | TFeraRer agier | ofis &=me arier C 1 Wiring 40

capping wiring wiring qrafar
8|What is the name of diagram? Layout diagram Installation Circuit diagram | Wiring diagram |3 &l AT &1 2 I33C 3G TATTAT IIRG afhe 3T IITRAT T TerAT A 1 Electrical layout 40
diagram

250

"—' a

300

150

600

DCN278241




9[What is the unit for quantity of electricity? Mho Coulomb Volt/Second Ampere/Second |fSsTelt Y AT & AT 51 FAT &2 Mho Coulomb Volt/Second Ampere/Second Electrical terms 40
10|What is the first aid to be given to stop the bleeding of the Applying ointment | Keep the injured Coveringthe | Applying pressure |dif3d & IFdTa ol Udhel o ToIT T SiTel aTell FEH T | 6ol BE A SR | SR earr o s | =g e | First aid 40
victim? portion upward | wound portion by | over the injured |sTafAe Rfehcar T &2 Hr IR TRTq T el EaTT SR AT
dressing portion
11|What is the golden hour for victim injured on head with risk First 15 minutes | First 30 minutes | First 45 minutes | First 60 minutes [FA% & STEH & A Y W ORI § UAIfSd & uge 15 [Aee ugel 30 e gl 45 [Aee Ugel 60 A First aid 40
of dying? forw Taftts g a7 &2
12|What immediate action to be taken if a person get electric Report to your | Call for the doctor |Call other persons | Switch ‘OFF’ the |39 frelT cafad &t fesTell T STcanT fFel df 4T 379 3IEHR Y RfFcas @ Fed Qs T | TersTell 1 3l 1 First aid 40
shock? authority for medical for help to rescue power supply  |dcehTel FIRATS T ATTT? RO AT Rffcar s v | su= & v g CLCTy
treatment true victim g cafedqat i #Fee &
fow gemd
13|Which condition of the victim is referred as COMA stage? Unconscious but | Unconscious but Breathing but Lie totally dNfsa 1 [Fa TATT FT COMA 37TTAT FaT ST &2 | 81T o fehel Prel T |SEII ool hiel &I | olfchad hIcT T [ TUAREH First aid 40
can respond to | cannot respond to | cannot respond to | senseless and do SAT S Hhd § | SIAIE 7181 & Hohdl | SIS 161 & HehdT | HAGG I Bl ol
calls calls calls not respond to call 3R wier I STaTe o
g
14|What is the use of tool? Holding the hot Calling and Extracting nails Loosening and  |3Ueh]OT ST 3T &7 &2 IH UGS US| BT IR GATAR | olehal T aATGeT et 3R 7 & Electrical hand 40
substances twisting wires from wood tightening of bolls [GEICCH IR FETF fow tools
and nuts
‘ :
g
9
g
15|What is the purpose of switch in electrical circuit? Regulate the rated control the Start (or) stop the | Provide the path [faggd afere # [Caa &1 3eced #1562 Ws Ifddlees | S S ACIA Y |TRH (1) Tl o | FaTE & [T Feire] Electrical control 40
supply voltage | amount of current | flow of current | for the current to a1 fafaffid Y | acrr S == JaTg & Uch & foIT 97 yereT &Y
through load flow IGEIEGKCT
16|What is the indication of neon polarity indicator used for Both electrodes Only one Both electrodes | One electrode will [AC 3Tfc &I ST & foIT fotdTel AARET STSehex 1 [alell Felaals THhIT| haol Teh FAFLIS alel gelerers Th SoldgIs dHS Electrical testing 40
checking AC supply? will glow electrode will glow | will be flickering | glow and another |&ehd T g2 THb ST feafemr e | Srwen iR gy
will be flickering feafeaT STTeT
17|Which instrument is used to test the new wiring installation? Multimeter Ohmmeter Voltmeter Megger AT ATIRIT SECTeIRIT DT IRIGTIT il oh ToIU [ohdl AceHAE 3eA A e AR Testing instruments 40
SUHIOT ST ST AT ST §72
18|What effect of electric current is applied in ceiling fan? Heating effect Chemical effect | Magnetic effect | Gas ionization  [TforaT $hel H SellFeeh T T FIT YT IST &2 GIEECIC] T Toieh GG D JATT I 3mARToT Electrical fitting 40
effect eI
19|What is the maximum permissible load for a light and fan 800 watt 1500 watt 2000 watt 3000 watt |E Tt & HJ TR Uah Tehrel 3R TR 39 Afehc 800 watt 1500 watt 2000 watt 3000 watt Electrical loud 40
sub circuit as per IE rules? & fore 1fead IgAT AR FATE?
20|Which is the polarity of direct current (DC)? Phase (L) and Phase (L) and | Positive (+ve) and | Positive (+ve) and [Jcr&T &IRT (DC) & ¢ HisT AT &2 & (L) 3R =gcd % (L) 3R eATcH (+ ve) 3R | &eTTcds (+ ve) 3R Polarity of DC 40
Neutral (N) Negative (-ve) Neutral (N) negative (-ve) (N) FHOTcHS (-ve) =gco (N) FOMcHS (-ve)




Name of the Trade : Draughtsman Civil - 2" Sem - NSQF - Module 8 : Floor

Question OPT A OPTB OPTC OPT D Question OPT A OPTB OPTC OPT D Ans | Level| Topicof - WeekNo of
syllabus the Syllabus
1|What is the name of floor? Marble floor Muram floor Mosaic floor Solid ground floor [FTSTel T =T FAT 82 TIAFR T B AA Y Aot Y 3 Hddl D 1 | Types of floor 41
%

§

=]
2|What is the span for provision of herringbone strutting in 1.0m 1.5m 2.0m 24m Tehol SIEC Ahal & B H gRITENT T & IITENT h 1.0m 1.5m 20m 2.4m D 1 Timber floor 41

single joist timber floor? o s Farg?
3[What is the maximum span for single joist timber floor? 25m 3.0m 3.6m 40m Tehol SIIEC oIohal o el & ToIU 31T AT FaT 872 25m 3.0m 3.6m 40m C 1 Timber floor 41
4|What is the name of part marked as ‘X'? Ceiling joist Wall plate Common rafter Herring Bone  |'X' & &9 & TAgsTdl 1197 ST oATH T 72 ol SAsTe ardl Tole P TFX RT a1 Tefear D 1 Single joint 41
strutting timber floor
7
IX<DXIXD
=X

8

o
5|What is the intermediate support in timber framed floor? Joist Binders Common rafter Strutting AFS F A H Fegdd! THYT FT 87 et EIEERS hIHT MY TereaT B 1 |Timber farmed 41

floor
6|What is the name of part marked as ‘X'? Strutting Furring piece Air space Binders X & T N AT 19T T ATH FIT 872 Terear HISTA aTell gohsT g T T qE B 1 |Framed timber 41
floor
/*X
% "
m m M

o g

8
7|What is the rise range in Jack floor? 25t0 30 cm 20to 25cm 10to 20 cm 30to35cm Stk ok & TS 3o FAT 87 25t0 30 cm 20to 25cm 10to 20 cm 30to35cm C 1 Jack floor 41




8|Which floor is applied with a thin coat of cement-cow-dung? Muram Floor Linoleum Floor Mud Floor Asphalt Floor  [EHe-IMT-3MeR F Tdol IC F TATY FieT Y HoTel oIS A T oA oI dof FrI8 FT HY STAR dol Mud floor 41
ST &2
9|Which is a form of disintegrated rock as building material? Flagstone Muram Mosaic Granolithic 9T TATOT AN & §9 H g el ol Uh &9 TFeldIECle] AA Aot DENCIDED Flooring 41
FlTATE? materials
10{What is the ratio of cement mortar for pointing in flagstone 1:2 1:3 14 1:5 FolTEee [oTel | STl el & [oIT T ACR T 1:2 1:3 1:4 1:5 Flag stone 41
laying? HUTT FAT 8?2
11[Which floor is resilient and noise proof? Asphalt floor Cement concrete Rubber floor PVC floor el TT A oTdTel 3R &afel TTeRITSh 72 SER A B | TIFC Hshic ol HY T A Y PVC %eT Rubber floor 41
floor
12|What is the name of part marked as X? Wall plate Bridging joist Common rafter Floor boards X' & & H RATEAT 19T I AT FIT 2 gidl Telc ST Saee Pl TFX EEEIE Wooden floor 42
[ [
X
13|Which system of reinforcement is preferred in R.C.C upper One way 4 way 2 way Combined 2 and 4 %@Wﬁaﬁﬁ%ﬁmmmﬁaﬁﬂx Th &l 4 AET 2 TR®T gFA2 3 4 RCC upper 42
floor for ordinary loading condition? way R.C.C F93I #AfSrel & qg I AT §72 SrLal floor
14|Which floor is convenient to carryout plumbing and electrical Rib floor R.C.C floor Timber floor Jack arch floor  [3areafa @1 genfad v foeTr steramsit 3R egd R &er RCC ATl SHART olohar il Stk 3T BT Rib floor 42
installation without affecting the appearance? Jfersorae & fT i giatmees §? &
15|Which floor do not require form work during construction? Precast concrete Double flange Jack arch floor Filler joist floor  |f¥ATOT 3 gRTeT Tohd W7 T AT Gk ShT AT 6T | LTI ShehlC T | 3aTcl Folol T&Tl BT ik 3T BT ek SSEC TR Present floor 42
floor stone floor g2 o
16|What is the name of layer marked as ‘x"? Compacted earth Sand filling Lean concrete Cement concrete |'X' & & & RIfEAd TR & T8 FIT §7 HIUT &Rl IR |ug fohferr el hshic HIHT Hshlc Basement floor 42

DC2201E1

filling




17|What is the thickness of plain cement concrete laid for the 5-7.5cm 10 - 15 cm 16 - 20 cm 21-25cm 3wy & forT are Wdc Fhic T Alels FIT8? 5-7.5cm 10 - 15 cm 16 - 20 cm 21-25cm Brick floor 42
brick floor?

18|What is the proportion of lean cement concrete used in 1:1:2 1:1%: 3 1:2:4 1:3:6 AT Fhic & BT A TFFd V1T Fshic T 3eTaTd F4T 1:1:2 1:1%: 3 1:2:4 1:3:6 Cement 42
cement concrete floor? 2?2 concrete floor

19|Which floor wax is applied as a final coat of polishing to get Mosaic floor Terrazzo floor Flagstone floor Granolithic floor  |[THeER g YIS A & [T FIfIRT & A Fle & Aot B S B EEEIET FATITAF BT Terrazzo floor 42
glossy surface? & & i G1 B AH AT ST 2

20|Which floor with a concrete base is spread and levelled with Terrazzo floor Granolithic floor Mosaic floor Flagstone 31 T aTell hisT €1 Alolel 5 8 8 cm AT ol -gI&l Sl &Y JAfafdes Aot Y TS Mosaic floor 42
5 to 8 ¢cm thick lime-surkhi mortar? AR & @rer et 33T gHATT 82

21|Which floor is used for surface subjected to heavy wear like | Granolithic floor Asphalt floor Terrazzo floor Cement concrete  |3TRAT 3R 3ETAT o1 HIT TR & folw ohd AT FA IS BT 3R A B T B HHT FHshic Tl B Asphalt floor 42
dairies and hospital? floor T 3TIET FRT ST &2

22|What is the ratio of cement mortar used to fix tiles on floor? 1:2 1:1 1:3 1:4 HY TR TS Pl SIh el o [olT JIHT ACR HT 1:2 1:1 1:3 1:4 Tiled floor 42

e uTeT T §2

23|Which floor is constructed with cement concrete 1:1:3 and Mosaic Granolithic Marble Cement concrete |HIHC &shiT 1: 1: 3 3R TIHIIC il T2, Fareat G HioH FATTIF HIFFT HiHC FHshic Granolithic 42
aggregates used are limestone, quartz silt and ballast? 3R e & a1y [Fa w2t 1 a7 R ST g2 floor

24|What is the name of part marked as ‘X'? Baffle Curtain wall Main wall Sleeper wall  ['X' & ®9 & RITEd H19T 1 ATH F2T &2 qhel T&Teh GIaR HEI AR TAR T AR Basement floor 42

7 X

DC20MET




Name of the Trade : Draughtsman Civil - 2" Sem - NSQF - Module 9 : Vertical Movement

. Week No
Question OPT A OPTB OPTC OPT D Question OPT A OPTB OPTC OPT D Ans | Level Zoﬁ;)S; of the
y Syllabus
1{Which vertical transportation is suitable for large number Stairs Ramp Escalator Lift PleT AT FEATER TRAGA Fo7 T&IT H 9N & TolT ifear EE] Tl Ter fooe B 1 Ramp 43
of people? IGFAE?

2|What is the range of angle for stair? 40° to 45° 45° to 60° 25° to 30° 30° to 40° TET & ToIT 10T T TYAT FAT 87 40° to 45° 45° to 60° 25° to 30° 30° to 40° D 1 Stairs 43
3|What is the name of part marked as ‘x'? Going Baluster Handrail Newel post  ['X' & &9 & &I $T9T T AT &7 &2 angar SreleeX 803 Il Add 9eT D 1 Terms of 43

staircase

7
X
71 g
8

4|What is one end or both ends corners cut in plan of a Commode Splayed Bull nose Dancing step  |fhdH Teh SheH o Tolled H Teh B IT Glal 7T r FAS T3 Il A ST ¥¢T B 1 Terms of 43

step? Fre fem I g2 staircase
5|What is the name of part marked as ‘x'? Tread Going Nosing Scotia X' & T H TATETd H19T T ATH 7 872 ¢3S T AT TRITEAT D 1 Terms of 43

staircase

S
X ;

6|What is the name of part marked as ‘x’? Tread Riser Stringer Going X' % &9 F TATEAT HIIT I AT 37 82 3 RES TR angar C 1 Terms of 43

staircase

N
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7|What is the combined framework of handrail and baluster Balustrade Stair Landing Stringer T AIET H IoleT 3R o 1 g ad T a1 Sree®s T EiEg TR Terms of 43
in a stair? g2 staircase
8|What is an ordinary step of rectangular shape in plan? Flier Going Tread Riser TISTAT H IIATDHR TR BT T ATHT HGH FT ek s 3 BiES Terms of 43
¥ staircase
9|Which type of stair with the steps are radiated from one Geometrical stair Helical stair Half turn stair [ Three quarter turn [FErAT & 1Y fohdl T T TS Toh foig & SO STAdT Higr UIER ey A AE | i TS A3 AT Types of stair 43
point to upper floor? stair AfSer ae fahroT grar &2
10{What is a stair turning through one right angle? Quarter turn stair | Half turn stair | Three quarter stair| Geometrical stair [T HHHIOT TR 731 § 3 ATGT il T £? FaTeX ATS ATeT 3TET A Wl e atas Ty STfACRT der Types of stair 43
11[What is a stair branched in two flights at building? Geometrical stair | Bifurcated stair | Dog legged stair | Open Newel stair |Had & &l FelTSc 3 Udh TIGT hisT AT 72 ST drer gfasniara @ 3197 o198 HIgT 39T i ol Trel Types of stair 43
12|What is a stair if its flights run opposite direction and there | Open Newel stair | Geometrical stair | Three-quarter turn | Doglegged stair [TTg TS FelTge TAURIC &N & Terch & 3R Folge & | 3Tl Adel el soAdT @G | da-atas A AT | 3167 oes Ty Types of stair 43
is no space between the flights? stair T IS 19T AET &, Y Uk T T A E?
13[What is the name of stair? Geometrical stair | Half turn stair Circular stair Quarter turn stair |[HTET & AT 4T &2 ST drer 3TeT A drer FATHR e FaTe AS TIGT Types of stair 43
2
14|What is the name of stair? Three quarter turn | Half turn stair | Quarter turn stair | Bifurcated stair |€YGY &7 =113 4T &2 T AteTs AS ST | 31T Al 91 FATEX ATS TG BELIEGEI Types of stair 44

DC2303E6

stair




15|What is the name of stair? Circular stair Bifurcated stair | Geometrical stair | Doglegged stair |[EYEY 3T =TT FT &2 FATHR el gfasniara @ AT Higr 34T ol9s Higr Types of stair 44
8
g
16|What is the inclination of Escalator? 45° 40° 35° 30° TEehelcY &l S ehTd AT 87 45° 40° 35° 30° Escalator 44
17|What is the name of stone step? Cantilever step Spandril step Built up step Tread and riser [Jc2R I U13T & shed Bl ATH FAT &2 FeclollaR HeH TR T&&T Affa Fen 23 3 TR deHA Type of steps 44
step
N
\
\\m
\@\\\
A :
’ ]
Rectangular step Spandril step Cantilever step | Cantilever tread [Ic2R & e T ATH FIT &2 IMIATHRR FeH TRl T&T FEINaR PEH | shecTolldR o3 3R Type of steps 44
and riser step Ao sheH
5
19|What is the minimum width of a stair? 70 cm 80 cm 90 cm 100 cm T T ~geAdA ANsTs FAT 872 70 cm 80 cm 90 cm 100 cm Stair width 44
20|What is the stairs flight having an opening between two Half turn stair | Geometrical stair | Open Newel stair | Three quarter turn [&lsT Tt T 7 &Y FlTSe & ard 3NTTAT Bt 672 3R 1S A AT Ty NI AJA TG | i ArUTS AN AT Types of stair 44
flights? stair
21{What is the minimum thickness range of stringer used in 30 to 50 mm 50 to 70 mm 70 to 80 mm 80t0 90 mm  [chst St G H YT oFd IR & oA AlcTs & 30 to 50 mm 50 to 70 mm 70 to 80 mm 80 to 90 mm Stair 44
wooden stair? &2
22|What is the Height of riser in a stair? Total Height of floor | (NUmber of riser - | (Number of riser - | Number of riser - 3 (T e A T &1 FdTs &1 67 Total Height of floor | (Number of riser - | (Number of riser - | Number of riser - 3 Height of stair 44
Number of riser 1y 2) Number of riser 1y 2)
23|What is the number of steps required if the Height of floor 21 20 19 18 e HiSTel T 1S 3.0 M &, 7l Teh &1 FeATSC oh [oIT 21 20 19 18 Stair dempur 44
is 3.0 m assume the rise is 15 cm for a single flight? 15 cm §GoT W TGS HeAT hl TEIT FAT gIo?
24|What is the number of treads if the height of floor is 3.8 m 23 24 25 26 i BT T 15 3.8 m & IR Gl FellSe & 1ol 14 23 24 25 26 Stair dempur 44

and assume rise is 14 cm for double flight?

cm & Y 25 ST J&ar 37 gief?




Name of the Trade : Draughtsman Civil - 2" Sem - NSQF - Module 10 : Roof and Roof Covering

. Week No
Question OPT A OPTB OPTC OPTD Question OPTA OPTB oPTC OPTD Ans | Level :Oﬁ;n?; of the
y Syllabus
1|Which rafter support extend from eaves to ridge? Valley rafter Ridge rafter Common rafter Principle rafter [ehleT AT TR Foad A Rof doh TERT TGTol I 572 Jell TFeX RS T SHIFAT TFI TG TFX C 1 | Elements of 45
roof
2|What is a rafter provided at junction of two slopes? Jack rafter Common rafter Hip rafter Principle rafter [aY &elTell & SToFeTeT IR AT eI fohdT SITdT 872 S T PIHT JTFI R TFeX AT TF C 1 | Elements of 45
roof
3|What is the edge of roof running between the eaves and Verge Cleat Template Purlin Seof IR R F I1T & FT haIRT FIT golldl 872 EE] Fellc TFeic gfele A 1 | Elements of 45
ridge? roof
4|What is the name of part marked as ‘X'? Hip Fascia board Eaves Soffit X' & &9 § RS HIIT T ATH FIAT 8§72 I ST 91 geol aifthe B 1 | Elements of 45
roof
5 "
A ’:&‘
3&%&%%‘\
ZRIRNR
AP X
5557
2\
3
a]
5|What is the name of part marked as ‘X’? Dormer Fascia Stepped flashing Soffit X' & H AT 19T I AT FIT§2 R ST a1 T FAfIaT T@fthe C 1 | Elements of 45
roof
N
S
L
SRR
RGBSR NS
Y 5%;"}“1;{{%%‘}?;”“'
u
§
=]
6|What is the name of part marked as ‘X'? Hip Valley Ridge Wall plate X' & & H AT 19T I AT FIT 2 I By Rer Jiel Telc C 1 | Elements of 45
roof

g
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7|What is termed as the inclination of roof? Eaves Pitch Hip Gable S & 1A I FAT gl ST 82 ool T ’a EIcey Elements of 45
roof
8|What is the name of roof? Hip roof Gable roof Gambrel roof Mansard roof  |&d T ATH FT &7 R’ ¥ EECES NS B AOS od Type of roof 45
8
g
9|What is the name of part marked as ‘X’? Corbel Corvice Blocking stone Wall plate X' % & H AT 19T I ATH FIT 2 Il PRASH ScllfehdT T 3iel Tl Roof support 45
i
8
a]
10{What is the economical span for collar beam roof? 55m 5.0m 47m 43m o ATH O & [T Sehal 137k UTC FAT &7 55m 5.0m 47m 43m Type of roof 45
11{What is the name of part marked as ‘X'? Cleat Battens Purlin Common rafter |'X' & &9 & RITETd H19T T ATH 27 &2 Fellc Seaf gfere SHIFT JTFI Roof support 45
X
12|What is the name of part marked as ‘X'? King post Strut Purlin Principal rafter ['X’ & &9 & FITEeTd H19T T ATH 3T &2 [ T qfereT I TF Roof truss 45

DC2404E1




13|What is the economical span range for the king post truss? 5to8m 3t04.5m 9to10m 11to 12 m TohaT UTEC <8 & ToTT SehellTaeh UTC T 572 5to8m 3to45m 9to10m 11to 12 m King post 45
truss
14|What is the name of part marked as ‘X’? Straining beam Tie rod Collar Strut X' & & F RTEAT H19T 7 A1 FAT B2 T S R FleR T Composite 46
truss
g
g
15|What is the name of part marked as ‘X'? Valley beam Edge beam Tie beam Intermediate beam |'X' & 9 & [TEaTd $1T9T T ATH F3T &7 Joll & ok ey GEEIGH gerAf3ve S Barrel vault 46
Shell roof
X
3
]
§
16[{What is the name of roof? Barrel vault shell | Bowstring steel | Steel frame dome Belfast roof & & 118 FT &2 R Tl Tol Od | AT Tl O | Tl &l A 3G TS B Steel frame 46
roof roof dome roof
T6 %
17|What is the name of roof? Truncated roof Belfast roof North light roof Bowstring steel |&d &I =11 &7 §2 ghcs Bd JelhRFeC Bd 3L JhIRI & AT Tl B North light 46
roof steel roof
:
g
18|What is the brick size used in Madras terrace roof? 10x60x20cms | 12x65x20cms | 18 x80 x 25 cms | 15 x 75 x 25 cms |HGRT &l &d & 3¢ T HTHR FIT 872 10x60x20cms | 12x65x20cms | 18 x 80 x25cms | 15x 75 x 25 cms Madras 46

terrace




19|What is the name of part marked as ‘X'? 2 layers of plain | 2 layers of B.J.C | 2 courses of brick | Two courses of ['X' & ®9 & Rt 79T 1 AT F27 82 TTe; WHe shehic &1 | B.J.C I 2 Tl TH2TES GEEECT Brick 46
cement concrete tiles 2 R concrete
tenace roof
20|Which flat roof is provided with tie rod? R.C.C floor Bengal terrace Madras terrace Jack arch floor [T I3 & AT [T Fole T T TeTeT ST ST 672 RCC % SISl T & A T od Stk 3T BT Jack arch 46
flat roof
21|How many days are recommended to set the concrete 2 3 4 5 HETH X Bl # 37TH AR R hshic UM e oh [T 2 3 4 5 Madras 46
generally in Madras Terrace roof? fordet =it & 3regerar ey STt 872 terrace roof
22|How much surface slope is provided in Bengal Terrace 5to 7 cm 81t0 10 cm 13to 15cm 18to 20 cm SISl T Tl H [hcdell TG Gellel TcTeT ol ST 82 5to7cm 8to 10 cm 13to 15cm 18 to 20 cm Bengal 46
roof? terrace roof
23|What is the Brick Bat concrete thickness generally 125 mm 100 mm 75 mm 60 mm S ST T B & o7 3THIR R ¢ 8¢ hepIc T AT 125 mm 100 mm 75 mm 60 mm Madras 46
adopted for Madras terrace roof? Y fhdelr off ST &2 terrance roof
24|What is the centre-to-centre distance of joist in Brick 30 cm 45 cm 60 cm 75 cm ST FhIC B H AT i hg-H-ohg G FIAT 87 30 cm 45 cm 60 cm 75 cm Brick 46
concrete terrace roof? concrete
tenace roof
25|What is the name of part marked as ‘X'? Collar Tie beam Straining beam Straining sill  |'X' & & & RTEAd 19T 1 A1H F2T 872 FIoR REEIG T | e e Composite 46
truss
g
]
26|What is the name of roof? Mansard roof Deck roof Gambrel roof Gable roof & T ATH FAT 82 S od 3F od Aol o AT od Deck roof 47
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27|What is the name of roof? Mansard roof Gambrel roof Hipped roof Gabled roof  |&d & T8 FaT 82 FOS ©d s B RBsod ATl od Mansard roof 47
/////// i
N
/I
]
28|What is the name of part marked as ‘X'? Collar Purlin Tie beam Wall plate X' & & H AT 19T 1 ATH FT 2 Pl gfere SEEIC Jidl Tele Collar beam 47
roof
/A\
LX
g
g
29|Which truss consists of wooden member and steel or Truncated truss | Composite truss | Compound truss | King and queen |Toh& <& & ofehsl & erd AR Tl AT ol & TeEd gl Theszd FAIfele o qgFd e a1 3R F A Composite 47
wrought iron member? post truss g2 e 9 truss
30|Which truss consists of thin timber section at its top chord | Truncated truss | Bow string truss Belfast truss | Mansard roof truss |58 2 AT IR GHATGGR Idell ofhal & TS A Hief AT Thes T 1 Rgar e ST o IS T < Bel fast truss 47
curved? qag?
31|Name the roof truss? North light roof | Simple fink truss | Compound fink | House steel truss [&% & T AT FT g2 SWURRNER T | QYo theb &8 HYeFd Ttheh ol B39 Tl ¢ North light 47
truss truss steel roof
9
3
32|What is the maximum slope given to the flat roof? 5° 6° 8° 10° THTT Tl T oY ST aTell 3T TAhH SolleT FAT &7 5° 6° 8° 10° Flat roof 47
33|Which roof is useful that is provided on circular brick? Barrel vault shell | Steel frame dome Belfast roof Bowstring roof |l O &d 3TN § ST SAThR 3¢ IR UGTeT I STl &7 ST dloe Vol Bd | FETel &1 A I3 SoTPREC &d e STehR Sl Barrel vault 47

roof

Shell roof




34|What is the name of part marked as ‘X'? Lime concrete | Cement concrete Sand filling Earth filling X' & & F RATEAT H19T 1 1 FAT 8?2 AT FhIC ThicidT | HIHC dshic thieldl & fhfelar 37 Rpforer Jack arch 47
filling filling flat roof

3

3

3
35|What is the slope usually given on R.C.C flat roof? 1lin15 1in20 1in 60 1in 130 IMHAIR W R.C.C UK Td W AT Geollel [T ST 872 1lin15 1in20 1in 60 1in 130 RCC flat roof a7
36|What is the centre-to-centre distance of battens in Bengal 15cm 20 cm 25 cm 30 cm TS X Bl H shgs-T-ohg, T ol FAT &7 15 cm 20 cm 25cm 30 cm Bengal 47

Terrace roof? terrace roof

37|What is the centre-to-centre distance of rafters in Bengal 20 cm 30cm 40 cm 50 cm TS ST B 3 hal T g FAT 872 20 cm 30 cm 40 cm 50 cm Bengal 47

Terrace roof?

terrace roof




